












































































































































































RER14729

RER13430

RER14740

BS502-022

RER14740

BS901-046

RER13518

RER13474

RER13474

RER14735

RER14728

BS903-089

RER13520

RER13472

RER13478

RER13478

RER14731

RER14731

RER14770

RER14770

BS502-022

RER11856

RER14758

RER14772

RER14772

BS502-026

RER14774

RER14774

BS502-022

BS502-022

RER14774

BS502-022

BS502-026

BS502-026

RER14744

RER13481

RER14769

RER13481

RER14735

RER13475

BS903-089

RER11370

RER13475

RER13475

RER14735

RER11370

RER13519

RER13519

RER14735

RER14728

RER13478

RER13478

RER13478

RER13468

RER13468

RER13468

RER13468
RER13458

RER13458

RER13458

RER13458

RER14771

RER14771

RER14771

RER14750

RER13229

RER13219

RER13474

RER13474
RER13478

BS810-101

RER14772

RER14763

RER14756

BS502-030

BS502-022

RER11856

RER14748

RER14761

RER13473

BS502-023

RER14759

RER13476

RER13473

RER14732

RER13476

RER13476

RER13465

RER13465

RER13445

RER13445

RER13464

RER13464
RER13478

RER13478

RER13476

RER13476

RER13464

RER14732RER14731

RER14731

RER13468

RER13454

RER13484

RER13479

BS502-022

BS801-101

RER13482

RER13480

RER14764

RER13484
RER11370

RER11370
RER14730

RER14730

RER14730

RER13484
RER13482

RER13482

BS502-022

RER13477

RER14723

RER14742

RER13468

RER14731

BS901-046

BS901-046

BS901-046

RER14739

RER14739

RER13473

RER13466

RER13466

BS218-028
RER14760

RER12473

RER13439

RER13882

RER13441 RER13474

RER13465

RER13465

RER13446

RER13446

RER13474

RER13474

RER13474

RER13474

RER13473

RER13473
RER13448

RER14765

BS901-046

BS901-046

BS901-046

BS901-046

BS901-046
RER14305

BS901-046

RER14305

BS901-046

BS903-089

BS903-089

RER13443

RER13443

RER13475

RER13475

RER13475

RER13475

RER13448

RER13444

RER13444

RER13448

RER13448

RER13441

RER13441

RER13441

RER13882

RER13882

RER13882

RER13439

RER13439

RER14757 (Clear)
RER15160 (Purple)
RER15161 (Green)

RER14773

RER14767

RER13476

RER13479

RER13476

RER13479

RER13479

RER13476

RER13476

RER14767

RER15164 (Purple)
RER14768 (Green)

RER15164 (Purple)
RER14768 (Green)

RER14766

RER13439

BS502-025

RER14763

BS502-030

RER13474

RER14770

BS502-026

RER14748

BS502-022

RER13451

RER13474

RER14770

RER13479
BS502-030

RER14754

BS502-023

RER14721 BS502-026

RER14743

RER14743

RER14754

BS810-101

HX-3000MH-B



RER14750 - Frame Rail Assembly
(1 set) RER13430 - Steering Tray  (1 pc)

RER14740 - Frame Rail Extension
(1 pr)

RER14759 - Front Chassis Support
(1 pc)

RER14761
Upper Front Servo Mount (1 pc)

RER14762
Lower Front Servo Mount (1 pc)

RER14765 - Steering assembly
(1 set)

RER14760 - Front Lower Skid 
Plate (1 pc)

RER14731 - Shock Complete
F/R (Plastic)(1 pr)

RER14732 - Front Lifting Bellcrank 
(1 pr)

RER13441 - Wheel hex (4 pcs)

RER14774 - Rear Servo Mounts w/
Spacers (8 pcs) RER14770 - Servo Horn Kit (5 pcs)

RER14748 - Front Transfer Rods
& Steering Servo Link (3 pcs)

RER14743 - Battery Mounts w/
Straps (1 set)

RER14723 - Drive shaft (1 pc)

RER14742 - Motor Plate (1 pc)

RER14771 
5X63.6 Threaded Rod (2 pcs)
5X65.2 Threaded Rod (2 pcs)

RER14728 - Axle Shaft Set (2 pcs)RER14721-Wire clip (6 pcs)

RER14756 - Foam Bumper (1 pc)

RER14735 - Rear Axle Housing
(1 set)

RER14754 - Chassis Brace L/R
(1 pr)

RER14744 - Spool (1 pc)

RER14729 - Main Chassis (Plastic)
(1 pc)

RER14730 - Gearbox Housing 
(1 set)

RER14739 - Front Lower 
Suspension Mount w/Brace (2 pcs)

RER14763 - Front Bumper/Body 
Mount (1 pc)

RER14769 - Spool Assembly (1 pc)

RER14764 - Transmission
Complete (1 pc)

RER14758 - Rear Chassis 
Extension (1 pc)

‘79 Monte Carlo Mirror Assembly
RER14768 (Green)
RER15164 (Purple) RER14772 - Steel Plates (3 pcs)

RER14766 - Steering  Wheel 
Assembly (1 set)

RER14773 - Interior (1 pc)

‘79 Monte Carlo Body Assembly 
RER14757  (Clear)
RER15160 (Purple)
RER15161  (Green)

RER14767 - Mounting Magnet
(3 pcs)

RER12473 - M3x20 Flat Head 
Hex Drive Screw  (12 pcs) 

RER13518 - Axle Input Shaft &
Gear

RER13882 - Whitewall Low Pro 
Tires and Wheels w/ Knock offs & 
Wheel nuts (Chrome)(Not Glued)
(1 set)

RER13484 - Transmission Gear 
Set (Plastic)(1 set)

SPARE PARTS



BS901-046 - 4x8x3mm Ball
Bearing (2 pcs)

RER13439 - Wheel Lock Nuts & 
Knockoffs (4 pcs ea)

RER13443 - Front Axle (2 pcs)
RER13445 - Front Upper Arm
(2 pcs)

RER13448 - Kingpin Bushing
(6 pcs) RER13458 - Rod End Set

RER13468 - Suspension Link Rod
End Ball (6 pcs)

RER13474 - Ball Stud (6 pcs)

BS502-023 - M3x12 Button Head 
Hex Drive Screw (12 pcs)

RER13473 - 2x10mm Button 
Head Screw (12 pcs)

BS218-028 - M3x18 Button Head 
Hex Drive Screw (12 pcs)

BS502-030
M3x14 Flat Head Hex Drive 
Screw (12 pcs)

RER13478 - 2x12mm Button 
Head Screw (12 pcs)

BS502-022 - 3x10mm Button
Head Screw (12 pcs)

RER13464 - Front Inner Hinge Pin
Screws (8 pcs)

RER13481 - 8x12x3.5mm Ball
Bearing (2 pcs)

RER13465 - Front Outer Hinge 
Pin (4 pcs)(3x15.5mm)

RER11370 - 6x10x3mm Ball
Bearing (2 pcs)

RER13480 - 3x6x2.5mm Ball
Bearing (2 pcs)

RER13479 - 2.5x6mm Button
Head Screw (12 pcs)

RER13472 - 2x6mm Countersunk
Hex Machine Thread Screws 
(12 pcs)

BS502-026 - 3x8mm Button 
Head Screw (12 pcs)

RER13477 - 2x8mm Button 
Head Screw (12 pcs)

RER13446 - Front Lower Arm
(2 pcs)RER13444 - Front C Hub (2 pcs)

RER14305 - V2 Steering Arms 
L/R & V2 Toe Links (1 set)

RER13466 - Lifting Bellcranks Pins
(4x18mm)(4x25mm)(2 pcs ea) 

BS903-089 - 2X9.8mm Pin 
(12 pcs)

RER13476 - 2x4mm Button Head 
Hex Machine Thread Screw 
(6 pcs)

RER13519 - 3.2x0.6mm E-clip
(12 pcs) 

RER13482 - Transmission Gear
Shaft Set

RER13520 - Differential Gear Set

BS810-101 - M3x6 Flat Head Hex 
Drive Screw (12 pcs)

RER13475 - M2X6 Button Head 
Hex Drive Screw (12 pcs)

BS502-025 - M3x20 Button 
Head Hex Drive Screw (12 pcs)

RER13475 - 2x6mm Button Head
Screw (12 pcs)

RER14724 - Body Post Kit LR260
(1 set)

SPARE PARTS



HX-3000MH-B - 
7.2v 3000mah NiMH Battery 
w/Banana 4.0 Plug 

RER13454 - RC380 Brushed
Motor RER11856 - HEXFLY Servo 25KG RER13451 - Steering Servo (1pc)

RER13219 - Receiver 

RER13229 -
WP-1040-BRUSHED-V3 ESC

RER14434 - Whitewall Low Pro 
Tires and Wheels w/ Knock offs & 
Wheel Nuts (Gold)(Not Glued)
(1 set) RER15198 - Monte Carlo Light Kit

RER14240 - Chain Steering 
Wheel (3d Printed)(1 pc)

ELECTRONICS

OPTIONAL PARTS




